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ECONOMICS

(General)
Paper - i
Full Marks — 90
Time : 3 Hours
The Questions are of equal value for any group/half.
] The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in
their own words as far as practicable.

First Half
Economic Theory — I
(Macro Economics)
Group - A
1. Answer any five of the following question : 2x5
(a) What is bank rate ?
(b) What is Balance of Payments ?

(c) What is the difference between value added
method and final product method ?
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{d) What is national income ?

() What are the functions of money 7?7

(f) What is inflation ?

(g} What do you mean by free trade ?

(h) Write two important functions of commercial

bank.
(i) Find the value of investment multiplier when *
MPC = 0.40.

() What are the mechanisms of credit control
of Central Bank ?

Group - B -
2. Answer any three of the following guestions :
5%3
(a) Explain anti-inflationary policies in short.
(b) Worite a short note on burden of public debt.
(c) Write arguments for free trade.
(d) Explain circular flow of income.
(e) Write a short note on absolute advantage

theory of international trade.

(f) Distinguish between direct tax and indirect
tax.

Group - C
3. Answer any two questions : 10 x 2

(a) Explain the important features of Keynesian
consumption function. Derive and interpret
the investment multiplier. 5+5
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(b) Discuss the functions of Central Bank.

(c) Explain the credit creation mechanism of
commercial bank.

(d) What are proportional tax and progressive tax ?
Discuss advantages and dis-advantages of

direct tax. 2424343
Second Half
(Indian Economics - ll)
Group - A
1. Answer any five questions : 2x5h

(a) What is broad money ?

(b} Mention the names of any four commerciai
banks in India.

(c) What is MODVAT ?

(d} Write any two sources of state governments
revenue in India.

(e) Whatis GST? What are the two ccmponents
of GST ?

(fy What is foreign aid ?
(g) What is export promotion ?

(h) Write any two objectives of twelvth five-year
plan in India.

(iy What is plan holiday ?

(i) What are the objectives of decentralised
planning in India ?
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2.

3

Group - B

Answer any three questions. 5x3

(a)
(b)

Discuss features of India’s tax structure.

Explain the reasons for deficit in balance of
payments in the post reform period in India.

Discuss the effects of black money creation
in India.

Why was import substitution policy adopted
in India ?

What role does the Panchayati system play

in India’s decentralised planning system ?
Discuss.

(fy Explain the role of indirect taxes in India.
Group - C
Answer any two questions : 10% 2

(@)

Critically discuss centre-state financial relation
in India in the post reform period.

Discuss trend and pattern of import in India
in the planning pericd.

Evaluate success and failure of five-year
plan in India

Discuss the measures adopted for export
promotion in India.
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